[ BRI EXY 1963 4 [6] ]

Ye
S F(X) =X+ pr+Q ALk g (X) 1% LT
j:f(x)g(x)=o (a L EDER)

BT 512, F(X) =0 M0 < x<alz 2 SOERE o & AIEH L.

ks

RELY, EEOEHK, (15 L

j: f () (kX + £) dx :jo""(x2 + px+q)(Kx + £) dx
k[ x(x? (y2 _
_kjo X(x +px+q)dx+€'[0 (x*+px+q)dx =0

roT J.Oax(x2+px+q)dx:0 ) joa(x2+px+q)dx:0 R Y Lo,

Liniot ~at+Latv Do =0 mo la‘°’+£a2+qa=0 ThoHA, a0 kY
4 3 2 3 2

i Pai8 g 5 1a2+£a+q=0

4 3 2 3 2

IhEML L p=-a, q=%a2

kv f(X)=x*+px+q S X a4 —a? =0 Ly,

6
ai,/az—ga2 1J_r\/T 1+ 1
2 il X = 5 3 _ 23 a Linn, -1 T3<1 B LMD

<

O<x<a =L T3,



